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 APENDIX 

 

Normality test 

areaofliving     1175    0.99675      2.375     2.156    0.01554

healthstatus     1175    0.99375      4.562     3.783    0.00008

         age     1175    0.97324     19.551     7.411    0.00000

  experience     1175    0.84701    111.763    11.756    0.00000

        educ     1175    0.97505     18.228     7.236    0.00000

        wage     1175    0.61610    280.450    14.049    0.00000

           r     1175    0.91747     60.290    10.217    0.00000

                                                                

    Variable      Obs       W           V         z       Prob>z

 

Heteroscedasticity test

 

         Prob > chi2  =   0.0000

         chi2(5)      =    80.09

         Variables: educ experience age healthstatus areaofliving

         Ho: Constant variance

Breusch-Pagan / Cook-Weisberg test for heteroskedasticity 

 

Multicolinearity test 

    Mean VIF        1.06

                                    

healthstatus        1.01    0.986290

  experience        1.02    0.979783

areaofliving        1.03    0.975129

         age        1.11    0.903849

        educ        1.14    0.873810

                                    

    Variable         VIF       1/VIF  
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Linear Regression 

                                                                              

       _cons     12.59989   .1548869    81.35   0.000     12.29601    12.90378

areaofliving     .2262575   .0650141     3.48   0.001     .0987002    .3538149

healthstatus     .0145506   .0623789     0.23   0.816    -.1078365    .1369377

         age     .0091346   .0026535     3.44   0.001     .0039285    .0143407

  experience     .0248869   .0066843     3.72   0.000     .0117723    .0380014

        educ     .1132031   .0081739    13.85   0.000     .0971659    .1292404

                                                                              

     logwage        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                             Robust

                                                                              

                                                       Root MSE      =  .77617

                                                       R-squared     =  0.2081

                                                       Prob > F      =  0.0000

                                                       F(  5,  1169) =   52.56

Linear regression                                      Number of obs =    1175

 

 

 

 

 




